

# Converting Celsius and Fahrenheit (J)

Estimate or convert the temperatures.

$-21\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-57\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-39\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-41\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$85\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-84\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-86\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$97\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-40\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$9\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$30\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$36\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$96\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$46\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-16\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$39\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-93\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-48\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$-33\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$54\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$65\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-92\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$10\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-87\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$66\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-52\text{ }^{\circ}\text{C} = \text{___}^{\circ}\text{F}$

$1\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-99\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-12\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$

$-65\text{ }^{\circ}\text{F} = \text{___}^{\circ}\text{C}$